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12 14 249 JIiZ #EE(5)  AAJIIWRC 2:05. 50
Y8 vy BE
13 2 58 [LH #EGB) AWMz 77 2:07.79
TYEh W% E
14 6 166 [LUA HF(B) LoZiFE:  2:08.88
Wng Iy
15 10 252 “%Js R (5)  AMJIWRC 2:10.12
YR BE
16 7 430 M FEFH(5)  BrEERER 2:15. 34
AV( F7%
17 4 118 fIF FBL(5) MEYa=7 2:22.80
NF I ARY BE
13 451 J5iH  A&#E(5)  RUN. jp DNS
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NERL V= fun = KA i FLEk 24V
I NRZEL) BE
1 1 124 JI[ = HEBE(5) SSAC 1:40. 98
SRR BE
2 6 335 RKE EHKG) tEEREE 1:44. 48
32 419 B 2G)  KEH 1:45. 00
BT AH
4 11 420 Il #RIK EVO T.C 1:45. 30
L BE
5 5 334 mHp MEZE(5)  fEMkE L 1:46. 26
6 4 480 M peLEI(G) KukfE 1:47.59
78 482 ¥ WEG) KikfE 1:47.60
Y ey E
8 13 132 /NI ER () FTIEFK 1:49.66
9 10 75 HTF JE FETF— L8 1:49.99
IR A BE
10 9 270 4% KMEG) 774 MBIk 1:50.82
an’yy )% BE
11 3 53 /K SifE(5)  BkiZ 77 1:51.56
R F )2 BE
12 7 50 YA #&®E(5) WrEZ 57 1:51.60
L ] BE
13 18 165 [tk HEGB) LbIiFE:  1:52.05
14 12 481 @&iff #H¥E(G) KEkfE 1:52. 28
AGEV YA BE
15 17 333 Jull #HE(5)  fRJERE b 1:54. 45
Y ey BE
16 15 6 KiE 1 (5) FES. C 1:54.70
%
17 16 422 Efp B EVO T.C 1:57.78
NEY: BE
18 19 271 =#m Fi— () Z7A NIl 1:58.47
19 14 76 HAS F—  FHEFT—2H 2:08.50
H A b L—A _BAI8AL
JIEAT Fun - K4 i) 4k ajvh
P NEZEL) Bt
1 124 JIlE E8B5(5)  SSAC 1:40. 98
] BE
2 335 KRl EK(B) kLR 1:44. 48
3 479 BRI 2 (G)  KEHEE 1:45.00
BT AH
4 420 B Ik EVO T.C 1:45.30
TN BE
5 334 @b HEZE(5)  fEJERE Lk 1:46. 26
6 480 FLM  PebE(5) AR 1:47.59
7 482 EE W& G) KGRAE 1:47. 60
AU e BE
8 132 /NI BB () FTRGEFAR  1:49.66
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NERL V= fun = KA i FLEk 24V NAGL V= fon' - K4 i FLEk TAvE
TR 2 BE v h= 237 E
1 4 357 KRAM: Em@) T H% vy XAC 12.38 1 3 355 JEfy SFEE(E)  TAF v AAC 13,77
w)EF TR BE NV 22 BE
2 7 358 HEMy FHHI(6) T AF v RAC 12. 57 2 2 14 @t fdE (6) EmEHRY2=7 14. 21
UrnadbiMZ1 MY ThY BE
3 3 415 NIk EVO T.C 12.63 3 5 220 KRR GE(6) FRYVa=THE 14. 22
TR )t BE IV e BE
4 2 426 BIH  HEIE(6)  BTEREW 12. 69 4 7 217 i EBFH6)  EERva=TREE 14. 27
Ty vay BE AR IR ¥
5 6 83 BIE ERPI6) HEREWH 13.02 5 4 417 @R A EVO T.C 14. 31
19) vayh BE AV 2} BE
6 8 356 F#¥r FH(6) THFvAAC 13,51 6 1 92 AH FEMG) #EMYa=7 14. 42
vany' pe BE MWy p4F BE
7 5 291 JEW HiEG6) <h5BHAC 13.68 78 142 M KAEmMG6) FTRAEZR 14. 43
8 1 74 ER BB FERF—LH 14.24 8 6 478 fhill 72(6) SRS 15. 64
34H (-1, 1) 430 (@l +0. 8)
NIESE V= Fun' = K4 A ROEk 2Avb JIEGL V= tun' - K4 ] RoEk 2Avb
9 phn V' Jaypnd BE
13 114 I LHie) MEY=2=7 14. 57 1 4 218 fff HEKRE(6) Eeva=7kE 15. 21
T A9q B R ER BE
2 7 221 miE —WE6) bRva=THEL 14. 60 2 6 212 {E £H(6) EERVa=THE 15. 30
BAAh i B
3 5 476 /NP B (6)  ACHRAR 14. 73 3 5 428 T 1 (6) T 2 B 15. 45
VRN HE Wk p2 BE
4 8 290 fEEE HMEG) <5 BHAC 14. 74 43 211 K FEME(6)  bRVas=THEL 15. 53
FINT D hh BE FhAT Ay B
5 6 289 HJII HUK(6) <HsHDAC 14. 90 5 7 15 iRt BIr(6) EmbEfya=7 15. 56
AR BE A2 vavy BE
6 2 215 NH WE®6) ERva=7iE 14. 90 6 8 210 A #yth(e) bRva=THEE 15. 59
IR e BE ENVEEVS BE
74 93 /AR BE(6) BMYa=7 15. 17 T2 427 thEE 1K (6)  BTERER 15. 71
IRy ¥eEh V% BE
8 1 416 /VE ¥4 EVO T.C 15. 34 8 1 223 |[UA #(6) LRYVa=THL 15.95
5%H (EL:-0.2) 640 (EL:-0. 2)
NEAL V=Y fun = R4 i FLEk 2AVD NAGL V= Fon' - K4 i FLEk Vb
NN af} B 1) hyw
1 1 456 M3 #5#8(6)  RUN. jp 15. 29 1 7 245 JF¥F K¥H(6)  HAJIIWRC 13.17
B9y vaya® BE LSZAVEEY A E
2 6 219 E FE(6) EERva=TEE 15. 61 2 6 452 (b EFK(6)  RUN. jp 13. 65
AR % Ut BE 7AT Ak
3 3 261 #A FIFEONFE6) cheese 15. 62 3 5 246 BrEs umSF(6)  AWJIIWRC 14. 99
VISR B I BE
4 4 222 WA HIK(6) tRYa=TREE 15.73 4 3 450 HAKS WK (6)  RUN. jp 15. 13
)y any BE NN Yanzy BE
5 7 361 B FEK(6) THFvAAC  16.00 5 2 457 BB ¥ (6)  RUN. jp 15. 29
775 ) afh BE Fe4 Hef BE
6 5 214 t8H HE(®) tRva=7TREE 16. 16 6 4 402 A£FH nEfE6) LR C 15. 69
00 v ansey BE e REVYY BE
2 375 Bl KKER(6) T4 v RAC DNS 7 8 406 HH HA(G6) FELRC 15. 77
TFY b BE
8 455 finEE YA=Sf(6)  RUN. jp DNS
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JIEASE Fun - K4 B sogk EUJy v

el B

1 357 KAME JEME(6) FHF v XAC 12.38 0.0
2 e TR BE

2 358 REEF F5HI(6) T HF v RAC 12.57 0.0
v Y

3 415 N #K EVO T.C 12.63 0.0
TR ) 20td BE

4 426 BAH  HEIE (6)  HTERER 12.69 0.0
g vay BE

5 83 B ERPI6) HrEREH 13.02 0.0
1) W

6 245 JFBF  KFH(6)  HRJIWRC 13.17 0.2
1)) vayh BE

7 356 BEEF FHF(6) FHFvAAC 13.51 0.0
A VT BE

8 452 (L B (6)  RUN. jp 13.65 —0.2
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2%8

AL v=r Fun = K4 EilE] FLEk TAvE
YV

17 322 8K #i= Ny E—=  1:41.08
AFHY Vp BE

2 14 329 wi)ll #LK(6) RUNRUN 1:43.17
N YVEVE S BE

3 6 224 FE RE6) ERva=7HEE 1:45.34
R )7} BE

4 1 98 1Rk BEsl(6) EMY =7 1:46.09
AN B BE

5 12 13 ZEjE  &pi(6) wmmEmr==7 1:50.27
AR TIY BE

6 9 400 $aK () MLRC 1:50. 69
TAN VYT BE

7 8 330 #HJIl %A (6) RUNRUN 1:54. 40
Fh 14

8 11 248 &% {8 (6) ¥ [IWRC 1:56. 53
FhaT w BE

9 5 96 H1fr F=(6) BT 2 =7 1:56.88
EAVAEVAS BE

10 2 287 ¥k 1B (6) <hA5HDHAC  1:57.57
Fr% G4} BE

11 15 12 f2{f #E5k(6)  sEmpEHRY==7  2:00. 25
ARF vy BE

12 13 404 #AK FAK(6) FKILURC 2:01. 45
) ey BE

13 4 331 @% 7o~ R6) #EEREE 2:02.73
Fhy r4pmy BE

14 16 403 & fkAWI6) LR C 2:05. 98
7y A%

15 10 247 #EH  #t(6) F6)1IWRC 2:06. 64
N B BE
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NERL V= fun = KA i FLEk Vb
A/ AVED] BiE
1 1 123 fifs #H(6) SSAC 1:32.85
vy BE
2 4 94 /R RREF(6)  HNMYa=7 1:39.67
T AT WE
3 5 244 [LilfF 57 (6) H AN 1:42. 68
ISV BE
4 2 136 FPOE fEIEG)  FTIRETR 1:42.78
LZIVREVEN BE
5 8 148 Tk FEE(6)  TUUESEK 1:43.41
T4 450y BE
6 9 178 ¥ WA LHIZIEE 1:44.33
T 7 477 MEH BE6) KakfE 1:47.51
VARV VA BE
8 17 97 defg THA(6) EMY =7 1:48.04
9 10 475 BRE A (6)  AGHRER 1:48.35
A b BE
10 12 370 [E FA(6) T HF¥yAAC 1:48.99
(0% T, BE
11 6 126 Al 2£(6) SSAC 1:51.81
R BE
12 3 269 #HHHE H#6) Z7A NI 1:52.89
FVREVES
13 16 418 I A EVO T.C 1:53.15
AN vopey BE
14 14 376 KE MKEI(6) 7HF v XAC 1:55.43
VA%
15 13 302 (¢ ZU(64E) /IMIETRE L 1:58.95
1) <hen BE
16 15 127 % R34 (6) SSAC 2:03. 83
Yo % any BE
11 377 (LlfF fEZ£(6) T H*F v RAC DNS
H A b L—A _BAI8AL
JIEAT Fun - K4 Bz Fogk 2Avb
Iy Y3y B
1 123 filfs 9 (6) SSAC 1:32.85
an vy Pt HE
2 94 /AR RREF(6) EMMY =7 1:39.67
ARTF pY
3 322 #ARK - Ny bB—= 1:41.08
Yo ¥ AN BiE
4 244 LIl 55 (6) H HA& /N 1:42.68
ISV EN B
5 136 Ff3H  fEEG6)  FTRGEFAR 1:42.78
AFHY V2h BE
6 329 Il K (6)  RUNRUN 1:43.17
AV EVEN BE
7 148 Kk [E1E(6)  PTUGESAR  1:43.41
R BE
8 178 FIF WIKER(6) L Zi¥E  1:44.33
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1%H (\:+0. 8) 2%H (:+1.0)
NERL V= fun = KA i FLEk 24V NAGL V= fon' - K4 i FLEk TAvE
e BE Wy oy BE
1 5 10 Hik #®2(1)  FES.C 12. 16 1 2 29 EHH O ZER(1)  HE=TF 12.18
VAV IEVES BE 7 2 BE
2 4 282 /MNE BAEN) <hbHDAC 12. 49 2 6 203 Hg wHEQ)  ERRETRER 13. 16
NITF IR BE MEVEIYS BE
3 7 7TREA ZEMQ) FES.C 12. 70 3 5 204 HEA mESFQ)  ERRETRER 14.01
R BE N R BE
4 8 201 T WEQ)  ERWER 12. 84 4 3197 WEAs MO ERiRED 14. 31
IR LY BE
5 6 474 AR K AEAC 12. 85 5 17 8 Ak fEKER(1) ZFES.C 14. 45
A YT BE AREVYY BE
2 200 )1l ¥R (1) iR DNS 6 4 199 F) FEHQ)  ERTHER 14. 60
w8 T BE
3 288 RAEH WMi(D) <hsBAC DNS
H A b L—A _BAE8AL
JIELE Fun - K4 i) gk JE ) 2ivb
M ENR VAV BE
1 10 B ®#1)  FHES.C 12.16 +0.8
Wy oy BE
2 29 HH R0 HE=F 12.18 +1.0
A9 vk BE
3 282 /NE EAEQN) <SS DAC 12.49 +0.8
NI F un BE
4 7RO 2 FES.C 12.70 +0.8
ARSI/ B
5 201 J#yC MRS (D) _ERTRER 12.84 +0.8
6 474 SR B FCAREEAC 12.85 +0.8
ThyT v agtd HE
7 203 Hg 1R ()  _ERTRER 13.16 +1.0
yev% FR B
8 204 WA MISF(D BRI 14.01 +1.0
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1%H 2%H
NEAE V- I I h gk b WAL V- F=h  Fun= A= - I Aidk ik
1 6 AJF/AESACA 437 ‘mIE FE(6) W E A 55. 41 1T FREERE 131 jEH EING) 7V 55. 44
443 E 4R (5) bbb 140 il fEF(6) P 2
438 W BEIKIE(6) 9F) U4 135 #&)7 Z L3(6) 74 abt
440 I v A6) IR B 152 [ EEAE (5) NAN)
2 4 eRva=THEE 235 & ExEg6) 2070 1) 55. 84 2 5 LbIiFka 169 LIt #ZR(6)  9In7 4f 56. 90
238 g WEH (5)  ®)F #% 167 &R AE@®) 74
239 M #(5) 49 ~F 175 W) ZEZ7-(6)  7mhY 743
237 AW WeAr(6)  AVH #% 161 74 krv=t 1796 TAN W 24 479
3 b WEF—A 67 il BE 56. 96 3 8 HMYa=7 104 79HE DBEG6) b 2w 58. 58
66 Wi 105 FH mthe) b I
65 mE 102 B H&KEO6) A7 o
68 M FHK 107 J5ly  REL(6) 1) vl
4 8 HEF—AHB 69 Vi HEIC 59. 79 4 6 LbZiEes 184 HES  REAEG) th Uk 1:03.65
64 KW T 166 M D) AT E ant
70 EM W 168 2E WP @) W/ 2y
71 MR BN 173 xR WEAE(6) % v
5 3 FH% v AACA 360 HII LA F(5B) FTY VAT 1:00. 90 5 4 /Iy F 309 B EBRR(AE) AV v hva 1:09. 37
378 &R B (6) ATV b 307 A BRZE (54F) thEh TEF
382 ZHjE W) AN 4 310 MR BAE (4F) hvuvs ¥
373 W [MAZEG) T ) 308 AMR KA (5%) K ¥
6 7 FH%vAAB 385 A FEHEG) AV TS 1:01. 41
372 IR FEx () YvEb fF
366 R FEM) Ty b
362 AR HE(4)  vaTEb Al
L N S VA A
JIEfE i N e xi gk b
1 FAJEUEFEACA 437 =R 4E(6) WFF AF 55. 41
443 Fh $£(5) M 2y
438 W BEIKIE(6) 9F) U4
440 I v A6) IR B
2 PFrRGER 131 BEM ERG) 7V 8 55. 44
140 Wl A O6)  Fhve agh
135 #&J7 ZL3(6) 1174 abf
152 T F4E(5) )]
3 ERVa=THE 235 & ExE6) 20 1) 55. 84
238 g WEH (5)  ®0F ¥%
239 W 5 (5) VANV
237 M WA (6) AV %
4 LbZiFeA 169 LJst 4R (6)  91n7 ff 56. 90
167 &R FE®) 74
175 i)l F1-(6) 7w 743
161 74 nv=t 4296 TAN W 24 4)Y
5 wWEF— L 67 Hhll B 56. 96
66 b, A
65 mE
68 T FHK
6 HMYa=7T 104 78R DBEG) b 2w 58. 58
105 HH E4E6)  4bh Ivh
102 B EH&O6) A7 o
107 J5ify  #EL(6) 1) Va4l
7 HEF— LB 69 i AL 59. 79
64 K& T
70 VEHE K
71 R B
8 F ¥ KACA 360 HJII LA F () FY VAT 1:00. 90
378 &R B (6) ATy b
382 ZARE WEZR(4) AN 4
373 W (M BZEG) T tv)




/INFE AT FE R Bk
% OH R
TR -

114H 09:30 &

®r B

Wef | B | o - R T EEN PEEY EEEN Bl A PR ECER LR 34}
15 4% BE 4m10 | 4m66 | 3m79 4m30 | 4m37 | 4m42 | 4m66
1 11 2371aM g (6) FRYa=7kE] +0.1 | +0.8 | +1.1 -1.1] -0.8 | -0.8 | +0.8
{IN nt BE 3m98 | 4m02 | 3m97 3m96 | 4m33 | 4m20 | 4m33
2 9 5T WL (6) s 7 +0.6 | +0.8 ] -0.2 -0.6 ] -0.1 | +0.2 ] -0.1
7985 Tk BE 3m94 | 4m16 | 3m88 3m92 X | 4m20 | 4m20
3 10| 267|HEFT  EH (14 [cheese +1.6 | +2.1 ] +0.6 -1.3 -0.6 | -0.6
BHY BE 2m33 | 3m36 | 3m34 X 3m53 | 3m83 | 3m83
4 8] 378|4&IR BHE(6) T 4% AAC 0.0 | 0.5 ] -0.6 0.3 | +0.4 | +0.4
A9 74F BE 3m4l | 3m65 | 3md4 3m50 | 3m74 | 3m72 | 3m74
5 5| 385 mE FEFK(B) T 4% AAC -0.1] +0.3 | -0.7 -0.5 | 0.0 ] +0.3 | 0.0
e % vht BE 3m29 | 3m15 | 3m25 3m43 | 3m62 | 3m55 | 3m62
6 7] 266]1LI%  FZE hAE5) |cheese -0.4 | +0.3 | -1.1 +0.3 ] -0.3] 0.0 | -0.3
R 3m39 | 3m46 | 3m52 3m56 | 3m42 | 3m39 | 3m56
7 1 119]#l¢ B4 (6) MEY 2. =7 +0.4 | +1.2 ] +0.6 0.1 ] +1.0 ] +0.9 | -0.1
AT el BE X 3m52 | 3m45 X 3m51 X 3m52
8 6 198K BZE(5) MEPERH Y 2 =7 +0.3 ] -0.3 +0. 4 +0. 3
vy 2y BE 3m08 | 3m18 | 3m28 3m28
9 3| 414|HH AAIZEG) |nERkE EEE +0.1 | +0.4 ] -0.1 -0. 1
NS 3m10 X 3m28 3m28
10 2|  325[miE b b N E—= +1.3 +0. 2 +0. 2
NI ) BE 2m92 | 2m80 | 2m86 2m92
11 4 2R BFHE@ |FES.C -0.7 ] +0.4 | -0.3 -0.7
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%A K
FLER AT -
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AANV-A  2F#H

14E :-0.3) 2%H (i +1.2)
NERL V= fun = KA i FLEk 24V NAGL V= fon' - K4 i FLEk TAvE
i 47 BE Ay vt BE
14 340 [ BEE(2) WP P 13.28 1 3 461 M MZ=(3)  RUN. jp 13. 14
VEVAN REV) ] BE A YEa BE
2 3 81 R 4L (2) FHFHHEBTSC 13. 69 2 6 353 I BET-(3) FAF Y AN 13.61
NG nF B whE Uty BE
3 7 1R ##E0)  wES.C 13.91 3.4 341 EK BRI (2) BTN 14. 24
s Uk BE YeuF 7% BE
4 6 185 FEH AIEE() LR TREW 13.97 4 5 42 U AB(2) NFoZFEFE 4.4
NEEE BE The A= BE
5 350 ik MEA(2) T AF v RAC DNS 5 7 464 FRfH AL(2) RUN. jp 14. 84
H A b L—A _BAE8AL
JIELE Fun - K4 i) gk JE ) b
2wt BE
1 461 HIEH  MAT(3)  RUN. jp 13.14 +1.2
i 47 B
2 340 [ WER (2) P P 13.28 -0.3
AT Yk BE
3 353 IH MEF(3) FAFvAAC  13.61 +1.2
IR BE
4 81 % WAE(2) A HEBTSC 13.69 -0.3
INT N BE
5 1 R E#E1) wES.C 13.91 -0.3
7o Uk BE
6 185 AEMH AIRH(3) LR mikE) 13.97 -0.3
VERE] B
7 341 AR HKE Q) WEENET 14.24 +1.2
¥eF 747 BE
8 42 1IN 4B (@) Mo ZEFE 14.44 +1.2
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NERL V= fun = KA i FLEk 24V NAGL V= fon' - K4 i FLEk TAvE
Ty =F BE VAZEYN BE
1 3 467 5P 23 G3) A 14. 66 1 5 259 AE &A% cheese 16. 62
ATy AR BE Fhny <k BE
2 4 23 fitjd Q) EmpEmYa=7 15. 35 2 4 208 Ei#E EW() R 17.02
WEN v BE Hby vk BE
3 5 48 WAR  EM(Q2)  WIMEF 15. 99 3 6 187 EME A (2)  LRTWFEW 17.12
74 )y W WE THY E
4 6 346 ¥&E L (3) EA)IA 16. 25 4 3 195 Mk EQ) iR 18.48
7IEh ap BE Hoanh BE
5 2 315 FA (2 TAY— M 16.68 5 7 207 I @EBAEQ)  ERRETRER 20. 62
WY Uk BE VRPN TA) BE
6 7 342 =B FHEQ) WIEPET 16. 84 6 2 399 ¥ E=Jh(2)  PEEAC 21.18
H A b L—A _BAE8AL
JIELE Fun - K4 i) gk JE ) b
Y =f BiE
1 467 PR 1 GB) R 14.66 +0.6
M5y AR BE
2 23 fitja R (2)  EmpEHYa=7 15.35 +0.6
WEN I BE
3 48 EAR  EMQ)  WYIES 15.99 +0.6
ZIRE B
4 346 7&EBF 1w (3) R A 16.25 +0.6
R B
5 259 Al H%%(P¥2) cheese 16.62 +0.3
S BE
6 315 AR #(2) TAY—bfF 16.68 +0.6
Nl BE
7 342 =B FIURE () WAEENER 16.84 +0.6
Iy vk Bt

8 208 Eiffs HL(D)  ERAIRER 17.02 +0.3
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Wef | B | o - R T EEN PEEY EEEN Bl A PR ECER LR 34}
INVEZI) BE 5m06 | 4m84 | 4m79 x | 4m85 | x | 5m06
1 1 9|8 EHE Q) Kb L +1.2 1 -1.0f 0.0 -0.3 +1. 2
VIng i BE am90 | x| 4m83 4m67 | 4m67 | 4m78 | 4m90
2 7] 297T|HER £ 5 (2) S&K -1.7 +0. 5 -0.3|-0.1]-1.7]-1.7
HE o R 4m19 | X | 3m85 3m61 | 3m68 | 3m71 | 4m19
3 4] 3aTlea R A @) |ERIIAH -0.2 +1.9 -0.8 ] -2.4] -0.5 | -0.2
UFE Vi BE 3m83 | 3m75 | 3m61 3m61 | 3m68 | 3m71 | 3m83
4 5| 206|NH LIEQ) TR 0.7 | +0.7 ] -0.3 -0.8] -2.4| -0.5 | -0.7
Lr A St BE 3m70 | 3m78 | 3m67 3m58 | 3m70 | 3m73 | 3m78
5 3| 1472f{te @It ME Q) [EAME T +0.2 1 0.9 ] -1.9 +0.4 1 -0.5 ] 0.8 ] 0.9
s 3t BE
2 SO|REH:  ERL(2) JIERES - B DNS
7" &b W B
6]  191EA  EtETF @ | EEHERS DNS
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NERL V= fun = KA i FLEk 24V NAGL V= fon' - K4 i FLEk TAvE
A Y5 BE ) tf) BE
1 4 284 /NE Z2(4) <hsBAC 15. 30 1 8 146 FE U0 WU FrREFER 15. 68
LT PN BE VAR LA BE
2 5 264 WiE 7efeZUNE)  cheese 15. 40 2 4 366 BE FEM@ T 1% v RAC 16. 04
By 74 BE 2y
3 3 242 JmpE KU  HRVa=TREE 15. 50 36 109 =AK HEKU@) MEYa2=T 16. 34
w3 Eh A3 BE A5y <t BE
4 7 362 FBAA HEW) FTHh¥vAAC 1553 4 3 22 A B@)  EmEHYa=7 16. 50
WA aff v i WE
5 8 425 HfE EAIE  EVOT.C 16. 14 5 5 99 Bl HER@U) BMYa=7 16. 63
1y I BE ek BE
6 2 349 &5 FHFU VLT 16. 22 6 7 243 [l PHEWU)  EERVa=THEE 16. 74
A% ank BE
7 6 156 fRE LPA) L IiEFE 16. 40 2 493 kAl AN (4) AGHAE DNS
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